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QUESTION 1

What is true about emailing a scheduled report? 

A. You cannot customize the subject of the email 

B. You can email reports in HTML format 

C. The person receiving the email must have an email registered with a username in the system 

D. You can add an additional filter for a specific scheduled report 

Correct Answer: D 

 

QUESTION 2

The above diagram shows a typical Third Party Logistics (3PL) structure. Identify the Facility, Company, and User
levels, as applicable, in sequential order (that is, the proper label for box 1 is listed 1st in sequence). 

A. 1=Facility 1, 2=Company 1, 3=Company 2, 4=Super User 1, 5=Facility 2, 6=Facility 3, 7=Facility 4 

B. 1=Parent 3PL, 2=Facility 1,3=Facility 2, 4=Company 1, 5=Company 2, 6=Company 3, 7=Company 1 

C. 1=Company 1, 2=Parent 3PL, 3=Company 2, 4=Facility 1, 5=Facility 2, 6=Facility 3, 7=Facility 4 

D. 1=Super User, 2=Parent 3PL, 3=Company 1, 4=Facility 1, 5-Facility 2, 6=Facility 3, 7=Facility 4 

Correct Answer: C 

 

QUESTION 3
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Which two REST API actions are supported by Oracle WMS Cloud? (Choose two.) 

A. SEND 

B. RECEIVE 

C. DELETE 

D. GET 

E. POST 

Correct Answer: DE 

 

QUESTION 4

You are monitoring the progress of the picking wave and notice that a rush order needs to be picked 

immediately. 

Which two steps should you take to complete the Picking Tasks as soon as possible? (Choose two.) 

A. Select the tasks in the Tasks UI, and confirm the pick in the UI. 

B. Select the tasks in the Tasks UI, select Cancel Task, and re-run the wave. 

C. Manually take the inventory from the location to the shipping area. 

D. Select the tasks and in the Tasks UI, select Change Task Priority to give the task a higher priority. 

E. Select the tasks in the Tasks UI, select Assign user, and let the picker know that he/she is to select the tasks for
immediate pick. 

Correct Answer: AE 

 

 

QUESTION 5

Your company wants to use Replenishment Wave to maintain adequate inventory levels to meet customer demand by
fulfilling customer\\'s orders on time. Which Replenishment Trigger Mode needs to be set up in the Replenishment
Template for the following condition? For active Location P20A100 Minimum Volume = 20 Max Volume = 100
Percentage of Max = 20% Length = 20, Width = 40, Height = 60 If location P20A100 total volume goes below 20, the
location is triggered for replenishment 

A. Minimum Capacity 

B. Reactive 

C. Order Based 

D. Percentage of Max 
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Correct Answer: D 

 

 

QUESTION 6

What happens behind the flag Only deallocate on Short in the order type screen? 

A. The Order Type has no impact on the Picking Process. 

B. When the parameter is set to YES, during short pick, the system will put the order hold status until more inventory is
available. 

C. When the parameter is set to Yes, then only the shorted quantity will get deallocated form the order. 

D. When the parameter is set to No, the shorted quantity on the order remains in the "allocated" status. 

E. When the parameter is set to Yes, the short pick will cancel the shorted order line automatically and inventory
adjustment will be generated for the item. 

Correct Answer: E 

Reference: https://learn.oracle.com/ords/launchpad/learn?page=picking-modesandcontext=0:44208:44214 

 

QUESTION 7

You have a high demand item in the warehouse that you order from different vendors (e.g. copy paper). 

Each one of your vendors has its own item number and barcode for the item, and you have your own 

internal number for the item. You want to process fulfill orders using your internal number. 

What should you do in order to accomplish this? 

A. Create Alternate Item Codes in the Item Barcode UI to include all of the vendor\\'s item barcodes. 

B. Create a pre-pack item with the original item barcode as the parent and the vendor barcodes as child items. 

C. Create a different item in the WMS Cloud master data for each vendor. 

D. Capture the vendor\\'s barcode upon receiving in an inventory attribute, and then scan the inventory attribute during
each transaction that requires an item scan. 

E. Manage your workflow to only receive items form one vendor. 

Correct Answer: A 

 

 

QUESTION 8
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Your customer wants to Putaway LPN to Location by using the Putaway Rules and link the location with 

the Replenishment Zone. 

Which four configurations are required? (Choose four.) 

A. Putaway Priority and Rules are set at Facility Level. 

B. Set Replenishment Zone for Active Location. 

C. Set the Location Size Type at Facility Level. 

D. Putaway Type is set at Facility Level. 

E. Set Replenishment Zone for Reserve Location. 

F. Set Criteria for Putaway Rules. 

Correct Answer: ABCD 

 

QUESTION 9

Your warehouse is divided into two large areas, Area A and Area B, which store different products. You 

have set up your wave to allocate inventory from only Area A, but when the wave is run, both Area A and 

area B have allocated items. 

What caused the issue? 

A. In the Allocation Mode, "Restrict Allocation Zone" was not specified. 

B. In the Allocation Mode, "Restrict Allocation Zone" was set to Area B. 

C. Allocation zone was not specified in the task selection criteria. 

D. Allocation zone was not specified in the shipping order. 

E. The locations in Area A have excessive cycle count tasks against them. 

Correct Answer: C 

 

QUESTION 10

Your company\\'s count process has two levels: First, at the end of each quarter, the operators will need to get a list of
all the LPN numbers in every location via cycle count. Second, at the end of each month, the operators will do a spot
check for any 100 LPNs and count their content information, and to save time, they will scan each item only once and
enter the total quantity of the item marked on the inner package inside an LPN. Your company has reserve locations
only for storage and you\\'re doing the WMS Cloud configuration for the operators. 

Which two tasks should you complete? (Choose two.) 

A. Create a Cycle Cnt RF screen for the operators to use, and leave the content-count RF parameter blank. 
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B. Create a Resv Nbr Cnt RF screen for the operators to use. 

C. Enable the Recount Location Detail cc_trigger. 

D. Create a Cycle Cnt RF screen for the operators to use, and set the content-count RF parameter to By Sku Qty. 

E. Create a Cycle count for LPN deferred/immediate updates RF screen for the operators to use, and set the sku-scan-
mode RF parameter to By Qty Scan. 

Correct Answer: BE 

 

 

QUESTION 11

Select the two routing configurations that are used to specify routes for outbound loads. (Choose two.) 

A. the Routing Mode on the Carrier UI Screen 

B. the company parameter PACKING_ROUTING_MODE 

C. the Routing Mode on the Wave Template D. the Routing_Mode parameter on the Loading RF Transaction 

Correct Answer: AD 

 

QUESTION 12

You are the Inventory Control Supervisor at your employer\\'s East Coast facility. Your employer is a 3PL, 

and your customer is a large company that is also serviced out of the other 3PL facilities. As you start the 

shift, your Inventory Control team members inform you of a significant change in the RF Cycle Counting 

process. 

Lost IBLPNs are now updates with a "00" lock code rather than the expected "LL" code. 

Which scenario is causing this issue? 

A. You dismiss the concern because a change in the lock code has no impact on either the WMS Cloud or host
inventories. 

B. Your counterpart at the 3PL\\'s other facility changed one of the cycle counting company parameters and that
impacted your workflow for that same company. 

C. An inventory team member in the other facility marked a lost case with "00" lock code causing all subsequent lost
cases to be defaulted to the same code across all LPNs for all company/facility combinations. 

D. While counting LPNs at a location, one of your team members marked a lost case with the new lock code. The new
lock code is stored in system memory and applied to all IBLPNs counted as "Lost". 

E. One of your inventory team members changed his/her RF parameter default lock code causing the same
configuration change to propagate to all users in the facility. 
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Correct Answer: D 

 

QUESTION 13

Your customer is a Third Party Logistics operator (3PL) and ships multiple customer\\'s orders from two centralized
facilities, one on each coast of the country. How do you set up the Facility, Company, and User hierarchy in the system
(in sequential order)? 

A. Because of the distance between Facilities, you recommend two WMS Cloud instances for your customer. 

B. Create the 3PL\\'s customer\\'s Companies first, then the Users, next assign customers and Users to the Facilities,
and finally create an Admin account for the 3PL in each facility. 

C. Create the Parent 3PL Company, then the Facilities, next the Companies, next re-create each User in each facility he
or she is eligible for work. 

D. Create the Parent 3PL Company, then nested Locations Zones to represent the facilities and the customer
Companies and finally add the Users. 

E. Create the Parent Company as the 3PL, then the two facilities, next the Users in the facilities, and the Companies
that represent the customers, and the users to the companies. 

Correct Answer: E 

 

 

QUESTION 14

Item X has product life as 40 days and % Acceptable as 40%. You are doing receiving for your company via RF and
today is Sep. 15th, 2017. The receiving transaction that you use to receive Item X has left the screen parameter allow-
rem-exp-override blank, and has the screen parameter allow- inv-exp-override set to on. Identify two valid facts.
(Choose two.) 

A. When you communicate to the RF that the expiry date of Item X is Sep. 30th, 2017, the system will allow you to
receive it. 

B. When you communicate to the RF that the expiry date of Item X is Oct. 25th, 2017, the system will allow you to
receive it. 

C. When you communicate to the RF that the expiry date of Item X is Oct. 10th, 2017, the system will allow you to
receive it. 

D. Expiry date is the only date value that you can enter via receiving transactions, but it is optional based on the items
configuration. 

E. When you communicate to the RF that the expiry date of Item X is Oct.20th, 2017, and there\\'s an existing inventory
of Item X whose expiry date is Oct.4th, the system will allow to receive it. 

Correct Answer: AD 

 

QUESTION 15
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Why is it necessary to have a consolidation location? 

A. Consolidation locations are used to consolidate orders for a wave. 

B. Packing using a Distribution transaction requires a consolidation location for each store. 

C. It is necessary if you want to consolidate while packing. 

D. After you are finished picking your pick cart, you use a consolidation location to pack. 

Correct Answer: D 
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